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sinf = L, cosf = 2, tanf = L, csch = 2, secd = 2ocotg =2
The hypotenuse is obtained by the Pythagorean Theorem: /8% + 152 = /289 = 17. Then
sinf = 17,0036?-- 17,tan0— ,cscl = g,secﬂ—- 8,cot0-~—5
b=+72-32=+/40=24/10
(@) sina=cosf=3
(b) tana=cotf = T
/ (c) seca=cscf = 2\/1_0
Since sin 45° = B, we have z = —11—- = 11—2 =12v2.
T sin45° ==
V2
4
Since tan 30° = —, we have z = _4 = é = 4\/5.
z tan30° ==
V3
Since sin53° = ﬁ, we have z = 25 ~ 31.30339
T sin 53°
z 4 4
—=tanfd <& z=4tanf,and - =cosf & y=-—— =4sech
4 y cosf
cosf = % The third side isy = /72 — 22 = 4/45 = 3\/— The other five ratios 7 9|,
g 3V6 _ 35 _— ;
are sinf = ==, tanf = 425, csch = 3\/_, secd = 2, ,and cotf = m o
tanf = /3. The third side is r = /12 + 3 = 2. The other five
ratiosaresiné'—[ cosf = 2,0500—- 7 secd = 2, and 2 3
=1 9
cotd 7 _FE
csch = g The third side is = /132 — 122 5. The other five ratlos are 13 s
sinf = 12, cos§ = otanf =22, secd = 18 andcc>t0——2 ‘
12
The other leg = 100 tan 75° = 26.79, ' 103.52 _
hypothenuse = % = 103.52, and the 75° 13

other angle = 90° — 75° = 15° 2679 100



